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Part-1A
Answer all questions
01) If Rs. 280 has to paid as quarterly custom duty for a house, calculate the annual custom

duty of that house?

02) Calculate the speed of a motorcar which travels 100 m road in 5 secons?

03) Solve:2+2=2
a a

04)  Simplify: (ﬁ — i) -2

7 14
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05)

60
300 30

According to the give figures,

(i)  Write a pair of congruent triangles?

(if)  Write the rules of congruency of the above two triangles?

06) Last 6 data of a distribution is given below. The distribution contains 11 data.
60, 65, 68, 68, 70, 75 Find the median?
07) Put (v') or (X) according to the given statements.
The area of a rhombus is equal to multiple of its diagonals
The diagonals of a rhombus are bisect perpendiculary
08) Factorize : a? — 49
09) In the Venn diagram, write the shaded region as set -
notation.
A—] —B
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10) In the given figure the midpoint of AC is E,
BAC = 80°,CED = 50°and AE =7 cm, E

find the length of AB. /F \>>/ D
>

B C

11) FindtheL.C.M 6a?b and 3ab?.

12) If X and Y are two independent events, P(X) =§ and P(Y) = § find P(XNY).

13)  Inthe given figure, O is a centre of circle and

A, B, C, D are on the circle. 30
; 0
Find the value of x and y? /N D
B ‘ C

14)  Which two consecutive whole numbers lies V59 .

15) Ifx? —5x —24 = (x —a)(x —b), findthevalueof 'a’ and 'b’
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16) The figure shows about a triangular right prism. find the 20 cm

sum of the area of three rectangular faces?

13 cm
12 cm
5cm
17)  In the given figure O is a centre of circle, PQS =
65° and RQ = RS, find the magnitude QSR.
P 9 R

o

18) Find the value of (a + b) without solving the simultaneous equations a + 3b = 5 and
4a + 2b = 15.

19)  Find the radius of a right circular cylinder of which the height 10 cm and the volume is
1540 cm3.

20) In the given figure ABCD and ABXY are

two parallelograms. According to the data,

find the value of a.
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21)  According to the figure, find the gradient of this :;“

straight line?

4 X

22) It took 12 men 4 days to complete a certain task. How many men working 6 days can

complete the same task?

23) In the given figure, O is the centre of circle, OC = 12 cm and
CD = 8 cm, find the length of AB.

0
\ e )
A B
D
24) A person observes a top C of the building CD from A, the angle of c
elevation 30° and D is angle of depression from the same point is
40°. Mark the above data on this figure.
B D
25) Construct the locus of a point moving equidistance
from the lines LM and LN and lies on MN. Mark the
point at ‘P’ L
N
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Part-1B

Answer all questions

01) A bank manager who spends % of his salary on food and 13—0 for children’s education, % of

the remaining amount on travelling and 2 of the remaining amount spends on other

expenses. If he save Rs. 3250 for a month,

(1)  What fraction of total salary does he spend for food and children’s Education.

(i)  What fraction of total salary does he spend on travelling?

(iii) What fraction of total salary does he spend for other expenses.

(iv) Give the saving money as fraction of total salary?

(v)  Find his monthly salary?

(2+2+2+2+2 =10 Marks)
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02) A person takes a loan on a monthly simple interest rate of 2%, promising to settle the loan
in 3 years. However he was only able to settle the loan in 5 years at which the time he had
to pay Rs. 72000 as extra interest.

(1)  Calculate the interest he has paid for a year.

(i)  Calculate the monthly interest he has paid?

(iii)) What was the amount he borrowed?

(iv) Calculate the total amount he has paid to settle the loan?

(2 +2+3+3=10Marks)
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03) D 200m C

E
70m 100 m
A B

A semicircular stage of which the diameter 70 m is made on a rectangular ground of which

the length 200 m and width 100 m and other remaining portion spread by grass.

(i)  What is the arc length of EF.

(i)  Calculate the perimeter of ground which spread by grass.

(iii) Calculate the area of ground which spread by grass.

(iv) A triangular shaped land purchased from another person to develop the same ground
further. The area of new land is the quarter of area of the rectangle and BC is a one
side and other side in expansion of AB. Mark the rough sketch on this figure with

measurements.

(2 +2+4+2=10Marks)
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04) When randomly taking a card from a bag containing 5 identical cards numbered
2, 3, 4,5 and 6, its number is recorded and then put back in the bag.

(1)  Write the probability of drawing a prime number?

(i)  Depict the sample space on the given tree diagram.

nd
1% chance 2" chance

| |

N.P

(iii) ,Another card is drawn from the bag and number is recorded. According to this, depict

the probability on it.

(iv) Show the relevant events on the given grid.

2" chance

A L e L r T |

»
»

1% chance

B il e e e |
B ]
B ke ]
ik i s St ]

(v) Mark the sum of two numbers being greater than 7 on this grid, and find its
probability?

(1+2+2+3+2=10Marks)
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05)

84°

B

The pie chart illustrates the information gathered from Grade 10 students of a certain
Education Division who got first term mathematics marks.

(1)  Find the angle which is represented by C result?

(it)  If the number of students who got B result is 168, Find the total number of students.

(iii)  Find the number of students who fail the exam.

(iv) Find the percentage of students who got ‘A’ result.

(v) 36 students who got C result in the second term exam but not pass in the first term

exam. Find the new angle of sector of students who got ‘C’ result.

(1+2+2+2+3=10Marks)
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Grade : 10

NORTHERN PROVINCE
Year End Examination— 2018
Mathematics

32Tl

ST

Time :- 3 Hours

@,
0’0

Answer 10 question where 5 from part A and 5 from part B.

% The volume ‘V’ a right circular cylinder of radius r and height is

V =nr’h
. J
Part- 11 A
01) Complete the following table of values to draw the graph of the function y = 2x2? — 3.
b -3 =2 -1 0 1 2 3
y 13 5 ~1 —1 5 13
(i)  Draw the suitable graph of y = 2x2 — 3.
(ii)  Using the graph, find the roots of 2x? —3 = 0.
(iii) Find the interval of values of x for which the function decreases negatively.
(iv) If the graph of the function y = 2x? — 3 moves downwards along the y axis by 2
units, write the equation of the graph?
02) A frequency distribution containing information on the number of electricity units used

during a certain month by 100 households is given below.

Number of
. . . 21—-30|31—-40 | 41—-50| 51-60 | 61—-70 | 71—-80 | 81 —90
electricity units
Number of
house holds 5 13 24 | 10 14 4
(i)  Find the number of households who used 51 — 60 electricity units.
(i)  What is the modal class of this distribution.
(iii) Find the mean number of electricity units used by a household during this month, by

taking the assumed mean to be the mid value of the modal class.
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03) Kumar who owns a house assessed to be of annual value Rs 40000, has rented it for a year
to Ravi. The month rent charged by Kumar is Rs 2500. The relevant provincial council
charges 6% of the assessed annual value of the house as rates. Kumar has to spend 20% of
the rent on maintenance.

(i) Calculate the rent paid by Ravi for one year?

(i)  How much has to be paid as rates for a year?

(iii)  How much has to be paid for maintenance.

(iv) How much of the rent is Kumar left with at the end of the year, after the relevant
expenses are met?

04) (i) Draw a scale diagram according to the given 4

information. where 2m represents 1cm as A5~ D
scale.
8m
(if)  Using scale diagram,
(@) Find the length of AB. B_l 60° C
(b)  Find the magnitude of DBC.
(c) Find the length of AD.
05)
A (2x +y)em B
L]
(x + 3)cm
By—-1)cm
1 []
D (3y +4) cm ¢
In the given rectangle,
(i)  Make 2 suitable equations according to sides in terms of x and y.
(iii)  Find the length and breadth of rectangle by solving the above equations?
(iv)  Fin the area of rectangle?
Grade - 10 2 Maths
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i 5 _ 1 _3
06) (@ Solve: 20D " D — 8

(b)  According to the given figures,
[T ] [T ]

xcm (x+4)cm

O ] ]
xcm (x+6)cm

(1)  Find the area of square and rectangle separately.
(if) If the area of rectangle is equal to two times of the area of square, construct a
quadratic equation?

(iii) Solve the above equation and find the length and breadth of the rectangle?

Part-11B
07) The n"™ term of an arithmetic progression is 3n + 2.
(i)  Write down first three terms.
(if)  In this progression, which termis 62.
(ili) How many terms, starting from the first term that should be added to get a sum of
185.

08) (i) Construct a triangle BCD where BC = 6 cm, CD = 5cm and BCD = 60° by using
pairs of compass and ruler.
(i) Draw a straight line which is parallel to CD through B.
(iti) Construct parallelogram ABCD where A is in that above parallel line.
(iv) Construct the circumcircle of A BCD.

(v) Measure and write the diameter of circumcircle?
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09)

21°

An arc of which the centre C and a semicircle of which the centre O meet at E. Where ACD
and EBD are straight lines and BAC = 21°.

(i)  Find the value of ACE Give reason.

(ii)  Find the magnitude of ABC? Give reason.

(iii) Find the magnitude of CBD? Give reason.

10) In the parallelogram ABCD, the bisectors of the angles A and B meet at R the parallel lines
AB and AD drawn through R to the sides DA and BA meet at P and Q respectively. Prove

that,

(i) AQRP is a parallelogram.
(i) AP = PR.

(iii) AP = PB.

(iv) PQRB is a parallelogram.

11) (@) A and B are two sets where n(4) =12, n(AUB) = n(B) = 20 find n(4A n B).
(b) Out of 120 students who sat the exam, 40% of students who pass in Mathematics but

fail in science.
60 of them fail in science. % part of them pass either only one of the obove two

exams.
(i)  Represent the above data on a Venn diagram?
(ii)  Using Venn Diagram,
(1) How many of the students who pass both exams.
(2) Express the students who pass in Mathematics as a percentage of total
students.

(3) Shade the region of students who pass in science but fail in Mathematics.
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12)

30c

63 cm

()
(i)
(iii)

1m 54cm

many times.

Find the volume of semi cylindrical vessel.

Find the volume of cuboid shaped vessel.

Find the minimum number of semi cylindrical shaped vessel used to completely filled

in the given cuboid shaped vessel?

75 cm

A semi cylindrical vessel which contains water is poured into given cuboid without wastage
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(12 + 13 +5) x 20 = 30 x 20 = 600 cm?
25° or PQR =90° / SQR = 25°
5(a+b) =20
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0D ()

(i)

an

(iv)

— UMl
20 S

rg eupomend = 3250 X 20
apum 65000

72000
2

epur 36000

36000
12

epum 3000

BT LI % X 3000 —2 o063

1 aurpL eullg

1 wig eullg

apum 150000
5 UL aullg 36000 x 5
180000
QFIHHW OFHTEMS 15000 + 180000
epur 330000

12570 =110m
2 7

200 + 100 + 200 + (100 — 70) + 110
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(il  QFeieusll LuGHUleT UTLILETe — STl L LGHUNST LFlieTe]

200 x 100 i %xz—:x35x35

20000
= 18025 m?

5000 = % x 1000 x BX

100m = BX
ULLD euemyul

BX =100 m &pss

5
wreuflll UL SFe0 GBlHH60
wyeuflll UL SFHO &I HSH60
CrRUWIWFL ULSHH60 GHMISHH60
GBSHHIH ST L6V

15

25

360° — (96° + 63° + 84°)

% X 360° = 720 wremaiysei

96°

0°

63
a0 < 100 = 17.5 %

X 720 = 192 onemteuyHe6N

210 euememiufled C FHy QuBGwmy = 117 X2+ 36
=234+ 36

= 270 oTenteuTHe6N

270« 360° = 135°
720
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(iii)
(iv)
(V)
02) (i)
(i)
(iii)

03) (i)

(i)

an

(iv)

LD 6BT60T60( 3B 61T 66T .
srmirctro‘ﬂ@eismas Wigmeit (f)

21-30 5

31—40 13

41 —-50 24

51-60 30

61—-70 10

71 — 80 14

+280

81—-90 4

+120

X [Hlyed
(1 Jevpenws Halijshs)

fd mlyed
(x BreIBGapL, Healjos)

5 fd
150

®emL. = 55.5 — 700

apum 2500 X 12
= aur 30000

6
@epeufl = 40000 X 700
= epur 2400

ugmofioy = 30000 X %
= epur 6000
aehflw uewtd = emur (30000 — 6000 — 2400)
= epur 21600

500 — 650 — 150

(10 eiterapeiT)
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04)

05)

06)

M

(i)

@

(b)

(@
(b)
(¢ 15.3m(£0.1)

2x+y =3y+4

x+ 3y
x — 3y
xX=y
x—3y = —4

wemb =9+4+4=13cm
9@ =54+3=8cm
13 X 8 = 104 cm?

5 1 3

2(x+1) (x+1) 8

()  sawl ugiy
GFaleusll LJLIL (x+6)(x+4)
(i) x%+ 10x + 24 = 2x?
x2—10x—24=0
x2—10x—24=0
x2—12x+2x—24=0
(x—12)(x+2)=0
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x = —2 QuTmHSTH
HeMLD

SBeod = 16 cm

07) ()

08) (i)
(i)
(iii)
(iv)
(V)

09) (1)

(in)

n=1, T,=3x14+2=5
n=2, T,=3%x2+2=8
n =3, T;=3x3+2=11
3n+2 =62

3n =60

n =

185 =§{2><5+(n—1)3}

370 =n(7 + 3n)
3n?+7n—370=0
Bn+37)(n—10)=0

10 o _missefler gn. Com

FLOMHSTLD  6UEM]TSH60
@emewiagd ABCD eauenygHe0
MMl QULLLID 6UeNTSH60

ey = 3.1 (£0.1)

CED = 21° (@Cy. 1. G=zm)
CDE = 21° [CE = CD]
ACE =21+21

(10 eiteraeiT)



https://pastpapers.wiki/

(iiiy BCA =90°—21°
= 69°
CBD =BCA—-CDE . Gar =
= 69° — 21°

AQ//PR (zyey)
QR//AP (zyey)
AQRP @i B®eeuisyb
@®m Bgmg eru. //)

QAR = ARP (. &1. Gam)

QAR = RAP (A &1 B FmpréHs)
ARP = RAP (Geu. 2.)

RBP = PBC (B @1 & snmrsa)
BRP = RBC (g. &i. Gam)
RBP = BRP (Qau. o)
PR =PB
aemmed PR = AP (. )

(iv) APRQ @f Benisiid
AP = QR (®enewr 6. L)
AP = PB (p. )

(10 eiterapeiT)
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QR = PB (Gal. o)

QR//PB (g76))
PQRB @ Bemewisyb

(@ Gamg e. u, =, //)

11) @ mn(AnB) =n(A)+n(B)—n(AUB)
=12+ 20-20

18 Guy

54
IEB X 100 %

12) ()

1 22 21 21
=-XZ=XZ=Xx=x30cm?3
2 7 2 2

= 10295 =5197.5 cm?3

154 x 75 X 63 cm?
= 727650 cm?3

727650
5197.5

(10 yeiterebeiT)

(10 eiterabeiT)

(10 eiterab6iT)
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